O FaMm | aRTX | REAES | HEEEE | FARLN MErafE | WA | FREE |
BREM | TAEZhE | ZEAMHE | BHERER | BSERS | BOEME | BHEORR | mESE | ® Iz |

RBAERCLE: H 00 > SRR > S UUEA

A 2
A LEIRiE KT 2006FEF AR ES LW — WA RN ERRIGETF R SE L
A AL B WS E S S SR A E A
e
K A i aE 2006-03-31 PR [EIREIRI 2L YRS 1EE
S =m AT KA
2 WU S T RN SR P gt [RS8 o7 VB 20 A PR A ok 2 5 4]
PO TRFERRISZEE A, Rt T R GEE— AE KPR R T2 RHR T BRIERH R 425 5 T I
= TR, (T 20064 4 IR T, RATEBEA FIBMLIE ., 2M A2, 15K
T IREER PR . D R TSR T, M R B AR TR K A A I R, B
T-20064E7 A MIZELL 3548 5N 1T 24 TF « B ve i A0 . BR S A BT T4t 2 [ Bt it 2 1 vt [E B 35 B
A IR R 22200064 ARIES

SRR ANV A AR, G N DA CHRTE BN T S R AR T AOVE [ . vo g, AR, PRTEE
T R AL R ) — i A X, e ) A T 8 X AR R 2 P AR AR S IR B AU () A St XAV ARG
PRI EREEI A S, AENTHE RIS RRIER & .

A RNV RS AT BE T H ARV SR ThRE, RAERVRRI . ARSI LR e 2 R SR M Th
%,Rﬂ%%%ﬂﬂ%%ﬁ&A%&%@RNE%M%F%%E@,%E&ﬁ%f%%ﬂﬁ%ﬁﬁ
1%,

AT RAS T SCIRMNER, 48545 mR s —r=\m . = oMbt R 1k e
A, HHEIRERF S 2006 2 ARFES G2 SRR AN A il R S LN & B L
JBUIFIT 2 P LA I R

— W R

L. b AR 2 Uit 1t ) LR 3 A

OEHELR N A SR S5 RURN ARG BB AN AR

2. Aol A Al S Aok A S IR AR

3. RN A RS RN AE IR 5 5

4. AN S RN A AR 5

5. RMpA AR K-S 5E BE AR AFEAE I 5 2 )

= RZRER

1. WRIAN, 2. BB 3. BiRkiHE; 4. TS0,

= WSk

1. SWREZRT TR, RAMAIMEE, 55 RKIME, H431r, E7450F. X
— AN R4 T,

2. WHTHMEEMSA . B BEARBIE CFAD  JEHMhE. T8 .

3. WICHELLI00 N H, JEM N A BB k.

4. PRSI H I A200645 10 H o $A8H TEMMhE R : 222hou@263. net. cn

5. MIRASIHHERH MRS, Bgign A R TIRTT AT, RB AL T4 E R it & B [
KB R 2422 20006 24 RAESIN T8 CAEY , HFENHEAT, RIS SO/ &3R8 SCiE4

6. NSV IMCERAE SCES, B g NI R R GE R St (1 22 AR Rl (P $qT—
HARBRFRIR S IR PR BN DA FE — e I 1R 20— e B0 R 2 R 1 B B I R 2R AS G 8, B
By, VEMTIRRE T H K —) « FEANSECCE £,

. HRSWHESWHE. SWHEH. REASERNRBREEHE, KT 1MH
R RGEWM LS 2 N

i BRI

BEARMNE: bt e X LR A 545 T BRI Rl 22 4

MR E i 100088

B R AN A& FHEE

MEZRHIE: 010-62210731 62210730

& H: 010-62210728

H1{E46: zzzhou@263. net. cn



BEPE: Sl RN AR AR T R S B B T 2 B 2R R

—OORE=ZH=+H




